BC Calculus – FDW 3rd Edition – Section 4.2 Even Answers

Quick Review 4.2
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  10. C = -4

Section 4.2

2.(a) yes  (b) c = 8/27   4.(a) no, singular or sharp point at x = 1   
6.(a) yes (b) c = 2.820   8.(a) no, jump discontinuity at x = 1   
10. A(1, 0) & B(3, 
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 hence the secant line is: (a) 
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hence the tangent line is: (b) 
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12. Assuming that the temperature increases ‘smoothly’ (that the temperature function is differentiable), we can apply the Mean Value Theorem and 
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14. Here we find the average rate of change to be: 
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. Hmm… here we’ll use the Intermediate Value Theorem and since the starting and ending speeds were zero, she had an instantaneous rate of change (speed) at least twice in between. (Actually the ending speed need not be zero! but let’s say it was less than 11.8 mph!)
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   18.(a) none (b) x < 0  (c) x > 0
20.(a) none (b) none (c) decr: over all reals   22.(a) max at (0,9), min at 
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24.(a) min at (-2,-7.56) (b) incr: 
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26.(a) none (b) none (c) x < -2, -2 < x < 2, x >2
28.(a) none (b) over all reals (c) none

30. 2x + C   32. 
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 44.(a) 14 m/s (b) 
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46. One explanation uses the Mean Value Theorem and that cos(x) is the derivative of sine and between any two zeros of sin(x), the instantaneous rate of change must be zero. (See Rolle’s Theorem as a special case of the Mean Value Theorem.) 

48. 
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 is not zero between -2 and -1 and f(-2) =11 > 0, f(-1) = -1 < 0, so the theorem stated in problem #47 holds. There is exactly one x-value in (-2,-1) where f(x) = 0.
BC Calculus – Section 4.2 Even Answers (continued)
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50. Let h(x) = f(x) – g(x) over the interval [a,b]. 

The conditions of the Mean Value Theorem hold. 
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52. True   54. B   56. D   
58.(a) toward: 0 < t < 2, away: 2 < t < 5, toward: 5 < t < 8
(b) as Priya changes her direction (turns around)  

(c)
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(d) toward: 0 < t < 1.81, away: 1.81 < t < 5.64, toward: 5.64 < t < 8

60. For f(x) = x2, 
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 and 
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. Now equating the two rates of change (slopes) and solving for x (or c), we obtain 
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62. If f(b) < f(a), then f(b) – f(a) < 0 and then 
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